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_ No one can —— that he is clever. R
A. admire B. denounce
*Tﬁﬁmwmﬁﬂﬁﬁf C. defy D. deny
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Fill in the blank with the correct option.
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| Hegave up — — foothall when he got married.

A. playing
B. of playing
C. to play

D. play
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14.  Fill in the blank with the correct option.
_ A person who writes about his own life writes —.
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A. a biography
B. an autobiography

C. adiary
D. a chronicle
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" A. no mother N
B. illiterate
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37, Select the correct sentence.
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4. He resembles to his father. _—

13, He resembles as his father.
(., He resembles like his father.
), He resembles his father

"Solyey ‘Resemble’ “=52 '-'If TE TEZT o T e T
AL (GIETTI AN §ATA resemble @57 preposition m
A | 2T ﬁﬁ"}' Sentence’s Z77n- He resembles his f26ne

e R TR T L P

38, o =aem crdme
A @ e
B, wiZfanaz ene
C, a7 T47E B

., = T

s —

= .

a2 = ]
e

"Solve T vz Fwe <2 wer wE PRk T T
TGEE e Ewizzs «fF Fehe T BTe oS o
3. mﬁﬁﬁfﬁf&“ﬁﬁa@m; T
R —— d
13, anfemt
C. Az
D. T
'Solye; wnfbrrmm T =14 b« 73 Rty wgies @ &
AT HEF A TR e A (e <2
TNCTTE ™ Qsl; 4T Cey T9%S T | FoiR T 4

YT 25T Azf4(Z o197 |
40. 4m ‘tﬁﬁf @R 30. 5 mm AT G %m""'"ﬁ'ﬂﬁ
. SkgeTemmtwEmeg e
A49%10%m
B.49%10°%m
C.49% 107 m
D.49x% 107 m
T T, Y = e GRIE,
Al Y =22 x 10"
i = FL __mgL m=5kg, g= 93rn5
YATY x o L=4m, A= r
~ 5%9.8 x4 30.5
T22x10™x3.14116 x (0.01525) | T~ 2 ™™
= 15.25 mm
=1.22x10°m llﬁmz;gm__omg;-.m
. e
41. The best possible passive form of tiic sentence.  °
L _‘We don’t like idle people’is — . .

A. Idle people are not like us

3. We are not liked by idle people
C, ldle people are not liked by us

D, ldle people are not of our liking.
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A, to begin B.to end
C. to start D. to continue
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47. What the best possible meaning of *“White  Elephant’?.
A. a hoarder

B. a costly and troublesome thing

C. an elephant of white colour
D. a black marketer
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AL Al is well that end well. “ e L
B. All are well that end wel,
C. All 1s well that ends well. .
D. All are well that ends well.
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